Complete questions 9,10,12,20,38,40
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Write the slope-intercept form of he equation for each line.
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Complete questions 35-39
[image: image2.png]1s the relationship shown by the data linear? If it is, model the data
with an equation.

29, [x v 30. v 31 x y 32.
2 | 3 4 I
3 7 6
4 |1 1 7
BE RS 10
y | 35 x y 36.
R ERE
K S0
=1 3
5 |16 | s 37 w10

in point-slape form,
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Complete questions 17-20,26-29,33-35
[image: image3.png]Wirite un equation for the line that is perpendicular to the given line and that
passes through the given point.
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‘Write an equation for the line that is parallel to the given line and that
passes through the given point.
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“Fell whether the lines for each pair of equations are parallel, perpendicular,
or neiher.

3oy=d-8 2 3y = jcell
3 y= 1 y=k+6 Sx 42y - 20
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